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import vrep
import keyboard
from time import sleep
import sys, math
vrep.simxFinish(-1)
clientID = vrep.simxStart("127.0.0.1", 19997, True, True, 5000, 5)
KickBoV = 90
n=1
L_KickBoV = (math.pi/f180)*KickBoV
R_KickBoV = -(math.pi/180)*KickBoV
if clientID!= -1:
print('connect successfully')
else:
print('connect failed")
vrep.simxFinish(clientID)
print('program ended")

A AR

Syl

errorCode, Sphere_handle=vrep.simxGetObjectHandle(clientID,'Sphere',vrep.simx_opmode_oneshot_wait)
errorCode,Pole_handle=vrep.simxGetObjectHandle(clientID, 'Pole’,vrep.simx_opmode_oneshot_wait)
errorCode,Revolute_handle=vrep.simxGetObjectHandle(clientID, Revolute',vrep.simx_opmode_oneshot_wait)
errorCode,Prismatic_handle=vrep.simxGetObjectHandle(clientID, 'Prismatic’,vrep.simx_opmode_oneshot_walt)
errorCode,Revolute2_handle=vrep.simxGetObjectHandle(clientID,'Revolute2’,vrep.simx_opmode_oneshot_wait)
errorCode,Prismatic2_handle=vrep.simxGetObjectHandle(clientID, 'Prismatic2',vrep.simx_opmode_oneshot_wait)
errorCode,Pole2_handle=vrep.simxGetObjectHandle(clientID, 'Pole2',vrep.simx_opmode_oneshot_wait)

if errorCode == -1:
print("Can not find left or right motor')
sys.exit()

def start():
errorCode = vrep.simxStartSimulation(clientID,vrep.simx_opmode_oneshot_wait)
while True:

try:

if keyboard.is_pressed('r'):
vrep.simxSetlointTargetVelocity(clientID,Revolute_handle,R_KickBoV,vrep.simx_opmode_oneshot_wait)

elif keyboard.is_pressed('t'):
vrep.simxSetlointTargetVelocity(clientID,Revolute_handle,L_KickBoV,vrep.simx_opmode_oneshot_wait)

elif keyboard.is_pressed('q'):
vrep.simxSetlointTargetVelocity(clientID,Prismatic_handle,0.05,vrep.simx_opmode_oneshot_wait)

elif keyboard.is_pressed('w'):
vrep.simxSetlointTargetVelocity(clientID,Prismatic_handle,0,vrep.simx_opmode_oneshot_wait)

elif keyboard.is_pressed('e'):
vrep.simxSetlointTargetVelocity (clientID, Prismatic_handle,-0.05,vrep.simx_opmode_oneshot_wait)

elif keyboard.is_pressed('."):
vrep.simxSetlointTargetVelocity(clientID,Revolute2 _handle,l_KickBoV,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('/'):
vrep.simxSetlointTargetVelocity(clientID,Revolute2 _handle,R_KickBoV,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('b'):
vrep.simxSetlointTargetVelocity(clientID,Prismatic2_handle,0.05,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('n'):
vrep.simxSetlointTargetVelocity(clientID, Prismatic2_handle,0,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('m'):
vrep.simxSetlointTargetVelocity(clientID, Prismatic2_handle,-0.05,vrep.simx_opmode_oneshot_wait)
else:
pass
except:
break

start()
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import vrep
import keyboard
import time
import sys, math
vrep.simxFinish(-1)
clientID = vrep.simxStart("127.0.0.1", 19997, True, True, 5000, 5)
KickBoV = 360
L_KickBoV = (math.pi/180)*KickBoV
R_KickBoV = -(math.pi/180)*KickBoV
if clientIDI= -1:
print('connect successfully')
else:
print('connect failed")
vrep.simxFinish(clientID)
print('program ended")

err,Sphere_handle=vrep.simxGetObjectHandle(clientID,'Sphere',vrep.simx_opmode_oneshot_wait)
err,Pole_handle=vrep.simxGetObjectHandle(clientID,'Pole',vrep.simx_opmode_oneshot_wait)
err,Revolute_handle=vrep.simxGetObjectHandle(clientID,'Revolute',vrep.simx_opmode_oneshot_wait)
err,Prismatic_handle=vrep.simxGetObjectHandle(clientID,'Prismatic',vrep.simx_opmode_oneshot_wait)
err,Revolute2_handle=vrep.simxGetObjectHandle(clientID,'Revolute2',vrep.simx_opmode_oneshot_wait)
err,Prismatic2_handle=vrep.simxGetObjectHandle(clientID,'Prismatic2’,vrep.simx_opmode_oneshot_wait)
err,Pole2_handle=vrep.simxGetObjectHandle(clientID,'Pole2',vrep.simx_opmode_oneshot_wait)

if err == -1:
print('Can not find left or right motor")
sys.exit()

def speed(handle,speed):
err = vrep.simxSetJointTargetVelocity(clientID,handle,speed,vrep.simx_opmode_oneshot_wait)
def start():
err=vrep.simxStartSimulation(clientID,vrep.simx_opmode_oneshot_wait)
while True:
err,position_LR=vrep.simxGetObjectPosition(clientID,Revolute2_handle,-1,vrep.simx_opmode_oneshot)
err,position_S=vrep.simxGetObjectPosition(clientID,Sphere_handle,-1,vrep.simx_opmode_oneshot)
err,position_RR=vrep.simxGetObjectPosition(clientID,Revolute_handle,-1,vrep.simx_opmode_oneshot)
LP =position_S[1] -position_LR[1]
LPP =position_S[0] - position_LR[0]
print(position_S)
if LPP >-0.015:
speed(Revolute2_handle,L_KickBoV)
elif LPP <= -0.015:
speed(Revolute2_handle,R_KickBoV)
else:
pass
try:
if keyboard.is_pressed('r'):
vrep.simxSetlointTargetVelocity(clientID,Revolute_handle,R_KickBoV,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('t'):
vrep.simxSetlointTargetVelocity(clientID,Revolute_handle,L_KickBoV,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('q'):
vrep.simxSetlointTargetVelocity(clientID,Prismatic_handle,0.1,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('w'):
vrep.simxSetJointTargetVelocity(clientID,Prismatic_handle,0,vrep.simx_opmode_oneshot_wait)
elif keyboard.is_pressed('e'):
vrep.simxSetJointTargetVelocity(clientID,Prismatic_handle,-0.1,vrep.simx_opmode_oneshot_wait)
else:
pass
except:
break
Pv = LP*2.5
vrep.simxSetJointTargetVelocity(clientID,Prismatic2_handle,Pv,vrep.simx_opmode_oneshot_wait)

vrep.simxSetJointTargetVelocity(clientID,Prismatic_handle,0,vrep.simx_opmode_oneshot_wait)

vrep.simxSetlointTargetVelocity(clientID,Prismatic2_handle,0,vrep.simx_opmode_oneshot_wait)

start()
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import vrep
import keyboard
import time
import sys, math
vrep.simxFinish(-1)
clientID = vrep.simxStart("127.0.0.1", 19997, True, True, 5000, 5)
KickBoV = 360
L_KickBoV = (math.pi/180)*KickBoV
R_KickBoV = -(math.pi/180)*KickBoV
if clientID!= -1:
print('connect successfully')
else:
print('connect failed")
vrep.simxFinish(clientID)
print(‘program ended")

err,Sphere_handle=vrep.simxGetObjectHandle(clientID,'Sphere',vrep.simx_opmode_oneshot_wait)
err,Pole_handle=vrep.simxGetObjectHandle(clientID,'Pole’,vrep.simx_opmode_oneshot_wait)
err,Revolute_handle=vrep.simxGetObjectHandle(clientID,'Revolute’,vrep.simx_opmode_oneshot_wait)
err,Prismatic_handle=vrep.simxGetObjectHandle(clientID,'Prismatic’,vrep.simx_opmode_oneshot_wait)
err,Revolute2_handle=vrep.simxGetObjectHandle(clientID, 'Revolute2',vrep.simx_opmode_oneshot_wait)
err,Prismatic2_handle=vrep.simxGetObjectHandle(clientID,'Prismatic2',vrep.simx_opmode_oneshot_wait)
err,Pole2_handle=vrep.simxGetObjectHandle(clientID,'Pole2',vrep.simx_opmode_oneshot_wait)

if err == -1:
prlnt( Can not find left or right motor')
sys.exit()

def speed(handle,speed):
err = vrep.simxSetJointTargetVelocity(clientID,handle,speed,vrep.simx_opmode_oneshot_wait)
def start():
err=vrep.simxStartSimulation(clientID,vrep.simx_opmode_oneshot_wait)
while True:
err,position_LR=vrep.simxGetObjectPosition(clientID,Revolute2_handle,-1,vrep.simx_opmode_oneshot)
err,position_S=vrep.simxGetObjectPosition(clientID,Sphere_handle,-1,vrep.simx_opmode_oneshot)
err,position_RR=vrep.simxGetObjectPosition(clientID,Revolute_handle,-1,vrep.simx_opmode_oneshot)
LP =position_S[1] - position_LR[1]
LPP =position_S[0] - position_LR[0]
RP =position_S[1] - position_RR[1]
RPP =position_S[0] - position_RR[0]
print(position_S)
if LPP <-0.015:
speed(Revolute2_handle,R_KickBoV)
elif LPP »>=-0.015:
speed(Revolute2_handle,L_KickBoV)
else:
pass
if RPP >0.015:
speed(Revolute_handle, L_KickBoV)
elif RPP <= 0.015:
speed(Revolute_handle,R_KickBoV)
else:
pass
Pv = LP*3
PPV=RP*3
vrep.simxSetlointTargetVelocity(clientID,Prismatic2_handle,Pv,vrep.simx_opmode_oneshot_wait)
vrep.simxSetJointTargetVelocity(clientID,Prismatic_handle,Pv,vrep.simx_opmode_oneshot_wait)
vrep.simxSetJointTargetVelocity(clientID,Prismatic_handle,0,vrep.simx_opmode_oneshot_wait)
vrep.simxSetJointTargetVelocity(clientID,Prismatic2_handle,0,vrep.simx_opmode_oneshot_wait)

start()
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vrep.simxSetlointTargetvelocity(clientID, F'r|5mat|c handle,0,vrep.simx_opmode_ oneahut wa|t]
vrep.simxSetlointTargetVelocity(clientID, Prlsmahcz_handle 0,vrep.simx_opmode_oneshot_wait)
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- def speec“ handleisqeed ”
err = vrep.simxSetjointTargetVelocity(clientID,handle,speed,vrep.simx_opmode_oneshot_wait)
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- def speed(handle,speed):

err = vrep.simxSetlointTargetVelocity(clientID,handle,speed,vrep.simx_opmode_oneshot_wait)
- def start():

err=vrep.simxStartSimulation{clientID,vrep.simx_opmode_oneshot_wait)
- while True:
err,position_LR=vrep.simxGetObjectPosition(clientID,Revolute2_handle,-1,vrep.simx_opmode_oneshot)
err,position_S=vrep.simxGetObjectPosition(clientID,Sphere_handle,-1,vrep.simx_opmode_oneshot)
err,position RR=vrep.simxGetObjectPosition(clientID,Revolute_handle,-1,vrep.simx_opmode_oneshot)

sition_LR[1

P p n_|
RP =position_ S[l] position_RR[1]
RPP =position_S[0] - position_RR[0]
print(position_S)
= if LPP <-0.015:
speed(Revolute2_handle,R_KickBoV)
= elif LPP »>= -0.015:
speed(Revolute2_handle,L_KickBaoV)
= else:
pass
= if RPP >0.015:
speed(Revolute_handle, L_KickBoV)
= elif RPP <= 0.015:
speed(Revolute_handle,R_KickBoV)
= else:

vrep.simx5etlointTargetVelocity(clientID,Prismatic2_handle,Pv,vrep.simx_opmode_oneshot_wait)

vrep.simxSetlointTargetVelocity(clientID,Prismatic_handle,Pv,vrep.simx_opmode_oneshot_wait)
vrep.simxSetlointTargetVelocity(clientID,Prismatic_handle,0,vrep.simx_opmode_oneshot_wait)
vrep.simxSetlointTargetVelocity(clientID,Prismatic2_handle,0,vrep.simx_opmode_oneshot_wait)
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if LPP <-0.015:
speed(Revolute2_handle,R_KickBo\/)
elif LPP »>= -0.015:
speed(Revolute2_handle,L_KickBoV)
elsa:
pass
if RFP >0.015:
speed(Revolute_handle, L_KickBoV)
elif RPP <= 0.015:
speed(Revolute_handle,R_KickBov)|
elsa:

b
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At # ™ 3n 4 number returnCode,number
parentObjectHandle=vrep.simxGetObjectParent (number clientID,number
objectHandle,number operationMode)Bl a5 H BBk Em EEFEAL B
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